RA F.TNY
e at il Y
R
A e X

2 Download on the
‘ App Store

o
Q
<
§e
©
e
c
2
)
()]




NAME: teverrrrnnneeeeseeeceeeesescnns Class: 12/..ueieeiiiiannnn.

First Period Quiz (No 1)
NE

I- Vocabulary (20 Marks)

80 0

A- From a,b.c and d choose the best answer : (4x5= 20 Marks)

1 The man was finally released as the lawyer proved that he wasn’t.....................

a) foreign b) petty C) guilty d) incapable
2. Ao is a place where people can enjoy all sorts of recreations.
a) diversity b) resort c) abuse d) litigation
3. The employee decided to.................. the company after he was fired for no reasons.
a) seek b) sue ¢) afford d) value
4.The handicapped should be treated................... to restore them to normal life.
a) compassionately b) regardless c)unfortunately d) ultimately
II- Grammar (20 Marks) O
20

B- From a, b, and ¢ choose the correct answer as required: (4x5= 20 Marks)

5- | prefer staying at home. My friends enjoy going to the cinema. ( Join using: whereas)
a- | prefer staying at home, whereas my friends enjoy going to cinema.
b- | prefer staying at home, my friends enjoy going to cinema whereas.
c- | prefer whereas staying at home, my friends enjoy going to cinema.

6- It ('rain) since last night. We may encounter a flood this way.  (Correct the verb)
a-1t rained since last night. We may encounter a flood this way.

b- It rains since last night. We may encounter a flood this way.

c-1t has been raining since last night. We may encounter a flood this way.

7- Omar had written five letters before he went shopping. (Use : after)
a-After Omar went shopping, he had written five letters.

b- Omar had written five letters after he went shopping.

c- After Omar had written five letters, he went shopping.

8- If the seminar (begin) at 10.00, we would have been on time. ( Correct the verb)
a-1f the seminar begins at 10.00, we would have been on time.

b- If the seminar began at 10.00, we would have been on time.

c-1f the seminar had begun at 10.00, we would have been on time.



I11- Writing (40 Marks)

40
The number of migrants has increased dramatically in the recent years.

Plan and write a six-sentence paragraph about the main reasons for migration.

The Outline (5 Marks)

I- Introductory sentence:

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................



I\ Y 11 R Class: 12/.eueeeeiiiiinnnn.

First Period Quiz (No 2)
\_20 /

I- Vocabulary (20 Marks)

80
A- From a,b, ¢c and d choose the best answer : (4x5= 20 Marks)

0

1. Despitethe ....................... of cultures, we all love and respect each other.

a) diversity b) supporter c¢) famine d) empathy

2. Finesmustbe ......................... on those who exceed the speed limits.

a) claimed b) deployed c) imposed d) displaced

3. When oil was discovered in the Gulf Region, a................ in their economy started.

a) abuse b) litigation c) boom d) liberty

4. A large number of students tend to travel to ......... countries to seek better education.

a) meticulous b) foreign C) petty d) aggressive

II- Grammar (20 Marks) /_\
B- From a, b, and c choose the correct answer as required: (4x5= 20 Marks) 20

5- They ( celebrate ) their graduation for 5 hours now . ( Correct)

a- They had celebrated their graduation for 5 hours now.
b- They were celebrating their graduation for 5 hours now.
c- They have been celebrating their graduation for 5 hours now.

6-Young people are fond of surfing the Internet. They don’t read books.
( Join using instead of)
a- Instead of reading books, young people are fond of surfing the Internet.
b- Instead of young people are fond of surfing the Internet, they don’t read books.
c- Instead of young people don’t read books, they are fond of surfing the Internet.

7- 1 went to the library. | borrowed some books. ( Join using: After)
a- After | borrowed some books, | went to the library.

b- After | went to the library, | borrowed some books.

c- | borrowed some books after | had gone to the library.

8- If I had received my electronic passport earlier,..................... ( Complete)
a-If | had received my electronic passport earlier, 1 will travel.

b-If I had received my electronic passport earlier, | would travel.

c-1f I had received my electronic passport earlier, I would have travelled.



111- Writing (40 Marks) 40

Although many people migrate to different countries, they face many problems in the new
countries.

Plan and write a six-sentence paragraph discussing the disadvantages of migration
The OQutline (5 Marks)

I- Introductory sentence:

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................



A E ) 11 Class: 12/.ceeeniennnennn.

First Period Quiz (No 3)
\_20 /

0

I- Vocabulary (20 Marks)

80
A-From a,b,c and d choose the best answer : (4x5= 20 Marks)

1o is a very important Islamic value that helps spread peace among people.
a) Violence b) Tolerance ¢) Rift d) Resort

2.Young people, nowadays,.........ccccceerveennnen. good jobs in the private companies.

a) row b) prove c) seek d) deploy

3. Honesty is the most important...................... in social relationships.

a) penalty b) hardship c) migrant d) principle

4. All students were waiting................coeoeeeeeinnannn. outside the exam room.

a) compassionately b) nervously ¢) unfortunately d) regardless

I1- Grammar (20 Marks) /_\
\\7/

B- From a, b, and ¢ choose the correct answer as required: (4x5= 20 Marks) 0

5- They have already finished writing the reports . ( Negative )
a- They hadn’t finished writing the reports.

b- They haven’t finished writing the reports yet.

c- They didn’t finish writing the reports.

6-The teacher had explained the lesson before the students started asking questions.
( Use: after)

a- After the teacher had explained the lesson, students started asking some questions.

b- The teacher had explained the lesson after students started asking some questions.

c- After the students started asking questions, the teacher had explained the lesson.

7- Emily spends her free time ina more effective way than I do. ( Use: effectively )
a-Emily spends her free time more effectively than | do.

b- Emily spends her free time more in effectively than | do.

c- Emily spends her free time in a more effectively than | do.

8 - If Ayman (not eat) so much food at the party, he wouldn’t have become so ill. ( Correct)
a- If Ayman doesn’t eat so much food at the party, he wouldn’t have become so ill.

b- If Ayman didn’t eat so much food at the party, he wouldn’t have become so ill.
c- If Ayman hadn’t eaten so much food at the party, he wouldn’t have become so ill.



111- Writing (40 Marks) 40

Laws are important for any society. There will be chaos without them.
Plan and write a six-sentence paragraph discussing the importance of laws.

The Outline (5 Marks)

I- Introductory sentence:

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................



A E ) 11 Class: 12/.ceeeniennnennn.

First Period Quiz (No 4)
NE

30 I- Vocabulary (20 Marks) 0

A-From a,b,c and d choose the best answer : (4x5= 20 Marks)

1. Youneedto ...........coeennenne. that you are not responsible for the accident.

a) emigrate b) avert C) necessitate d) prove

2. His early death was the.................. consequence of his unhealthy life style.

a) inevitable b) legal c) disgruntled d) universal

3. Children need to be taught to respect other people's ..................... :

a) impulse b) property c) defence d) famine

A , 1 didn’t have my credit card with me or I’d certainly have had this offer.

a) Ultimately b) Unfortunately = ¢) Compassionately d) Regardless

I1- Grammar (20 Marks) /\

B- From a, b, and c choose the correct answer as required: (4x5= 20 Marks) 20

5- Amal went to the party after she had bought a present for her friend. ( Use: before)
a- Before Amal had bought a present for her friend , she went to the party.

b- Before Amal went to the party, she had bought a present for her friend.

c- Amal went to the party before she had bought a present for her friend.

6- Omar had arrived before the bell rang.................. ? ( Add a tag question)
a- Omar had arrived before the bell rang, doesn’t he?

b- Omar had arrived before the bell rang, hadn’t he?

c- Omar had arrived before the bell rang, hasn’t he?

7-The old house is small. The new one is big. (Join using: in comparison with)
a- In comparison with the old house, the new one is big.

b- The old house is small in comparison with the new one is big.

c- In comparison with the old house is small, the new one is big.

8- If Tom hadn’t driven fast, he .......ccccvviieiiiniinniennnnnnn. ( Complete)
a- If Tom hadn’t driven fast, he won’t have an accident.

b- If Tom hadn’t driven fast, he wouldn’t have an accident.

c- If Tom hadn’t driven fast, he wouldn’t have had an accident.



111- Writing (40 Marks) 40

No human life is possible without values
Plan and write a six-sentence paragraph discussing the different ways of helping the

needy.

The Outline (5 Marks)

I- Introductory sentence:

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................



A E ) 11 Class: 12/.ceeeniennnennn.

Second Period Quiz (No 5)

I- Vocabulary (20 Marks)

80 20
A- From a,b,c and d choose the best answer : (4x5= 20 Marks)

1. The ..........o...l. war lasted three years causing a lot of death and damage.
a) petty b) foreign c) civil d) incapable
2 , | could make my dreams come true by joining Kuwait University.
a) Ultimately b) Unfortunately  c¢) Nervously d) Regardless
3. The lawyer .........ccoc....... that his client had never been near the scene of the crime.
a) displaced b) valued ¢) decimated d) prosecuted
4. Minorities should be protected against abuse and............. worldwide by effective
legislation.
a) resort b) discrimination c) supporter d) boom

I1- Grammar (20 Marks)

B- From a, b, and ¢ choose the correct answer as required: (4x5= 20 Marks)

20
5-Omar (buy) some milk before he went to the library. (Correct)

a- Omar buys some milk before he went to the library.
b- Omar has bought some milk before he went to the library.
c- Omar had bought some milk before he went to the library.

6- Olivia has never missed her university lectures, ................... ? (Add a question tag)
a- Olivia has never missed her university lectures, hasn’t she?

b- Olivia has never missed her university lectures, has she?
c- Olivia has never missed her university lectures, did she?

7- 1T 1 were asCientiSt, | ceeerereieeeiieeieieiierennrenneceneccnncenncnne (Complete)
a- If | were a scientist, I will discover cures for all diseases.

b- If | were a scientist, | would discover cures for all diseases.

c- If I were a scientist, | would have discovered cures for all diseases.

8- Merit knows the road (good). She doesn't need to use the navigation. (Correct)
a- Merit knows the road well. She doesn't need to use the navigation.

b- Merit knows the road better. She doesn't need to use the navigation.

c- Merit knows the road the best. She doesn't need to use the navigation.



111- Writing (40 Marks) 40

Laws are important for any society. There will be chaos without them.

Plan and write a six-sentence paragraph discussing how our lives would be without laws.

The Outline (5 Marks)

I- Introductory sentence:

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

.....................................................................................................................

...................................................................................................................



QUIZ 1

Class: 12
First Period Quiz

I- Vocabulary (20 Marks)

A- From a, b, ¢ and d, choose the most suitable word that best completes each of the
following sentences: (4 x 5 = 20 Marks)

1- The new COVID 19 vaccine has been met with ..................... approval within the WHO.
a- gquilty b- perturbed c- universal d- civil

2- Most of the businessmen will ..................... generously to support the needy people.

a- value b- claim Cc- reside d- donate

3-The ............... on the wall of my living room needs mending as soon as possible.

a- enfranchisement b- rift c- liberty d- famine

4- 1 know you are regretting what you have done. There isnoneed to ..................

a- cry over spilt milk b- over the hill c-over thetop  d-over a barrel

I1- Grammar (20 Marks)

B- From a, b and ¢, choose the correct answer as required: (4 x 5 = 20 Marks)

5- Many people prefer walking to work. They don’t prefer driving. (Join with: instead of)
a- Many people prefer walking to work instead of driving.
b- Instead of driving, many people do not prefer walking.
c- Many people prefer driving to work instead of walking.

6- A successful expository essay should present all ideas very (good). (Correct the word)
a- A successful expository essay should present all ideas very better.

b- A successful expository essay should present all ideas very best.

c- A successful expository essay should present all ideas very well.

7- By the time we received our cinema tickets, ......................... (Complete the sentence)
a- the film is already started.

b- the film had already started.

c- the film has already started.

8- 1 did not stick to the exam instructions. I lost many marks. (Start with: If)

a- If I had stuck to the exam instructions, | would have lost many marks.

b- If I had stuck to the exam instructions, I would not have lost many marks.

c- If I had not stuck to the exam instructions, | would not have lost many marks.

2|Page



I11- Writing (40 Marks)

Plan and write a six-sentence paragraph about the dangers of driving fast in residential
areas.

The Outline (5 Marks)

I- Introductory sentence:

..................................................................................................................

..................................................................................................................

..................................................................................................................
..................................................................................................................
..................................................................................................................
..................................................................................................................

..................................................................................................................

..................................................................................................................
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QuiZ 2

Class: 12
First Period Quiz

I- Vocabulary (20 Marks)

A- From a, b, ¢ and d, choose the most suitable word that best completes each of the
following sentences: (4 x 5 = 20 Marks)

1- Governments make laws, whereas the police and judges .............. them.

a- enforce b- obliterate c- avert d- seek

2- Accidents are ............ consequences of using mobile phones and eating while driving.
a- tolerant b- hard-pressed c- high-tech d- inevitable
3- My personal diet plan has been adopted aftera ............... with a professional dietician.
a- consultation b- migrant C- overview d- attribute
4- My father always advises us to deal with the handicapped ..................

a- unfortunately b- compassionately c- regardless d- nervously

I1- Grammar (20 Marks)

B- From a, b and ¢, choose the correct answer as required: (4 x 5 = 20 Marks)

5- Shakespeare was British. Arthur Miller was American. (Join)

a- Whereas Shakespeare was British. Arthur Miller was American.

b- On the other hand Shakespeare was a British, Arthur Miller was American.

c- In comparison with Shakespeare, who was British, Arthur Miller was American.

6- | have been driving along the highway for 3 hours now. (Ask a question)
a- Why have you been driving along the highway?

b- When have you been driving along the highway?

c- How long have you been driving along the highway?

7- As soon as we (inform) ........ the police, they arrived in the blink of an eye. (Correct the verb)
a- As soon as we inform the police, they arrived in the blink of an eye.

b- As soon as we had informed the police, they arrived in the blink of an eye.

c- As soon as we have informed the police, they arrived in the blink of an eye.

8- 1 am not a doctor. | can’t prescribe the right medicine for you. (Start with: If)
a- If I am a doctor, I will prescribe the right medicine for you.

b- If I was a doctor, I can prescribe the right medicine for you.

c- If I were a doctor, | would prescribe the right medicine for you.

4|Page



I11- Writing (40 Marks)

Plan and write a six-sentence paragraph about the benefits of migration.
The Outline (5 Marks)

I- Introductory sentence:

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................



QuiZ 3

Class: 12
First Period Quiz

I- Vocabulary (20 Marks)

A- From a, b, ¢ and d, choose the most suitable word that best completes each of the
following sentences: (4 x 5 = 20 Marks)

1- Children ........... Is strictly forbidden in our laws and in our religion.

a- supporter b- resort c- legislation d- adoption
2- Many people are ............ to afford living in very high living standards.

a- innocent b- brief C- mass d- incapable
3- Success inany field ............... well-planning, commitment and hard work.

a- alleviates b- governs C- necessitates d- displaces
A- i , some people do not follow the traffic rules unless they are punished.

a- Unfortunately b- Nervously c- Compassionately d- Regardless

I1- Grammar (20 Marks)

B- From a, b and ¢, choose the correct answer as required: (4 x 5 = 20 Marks)

5- Many learners have deleted their Teams groups by mistake. (Make passive)
a- Teams groups are deleted by mistake.

b- Teams groups were deleted by mistake.

c- Teams groups have been deleted by mistake.

6- Covid 19 is a virus. Cancer is a fatal disease. (Join with: On the other hand)
a- On the other hand, Covid 19 is a virus, cancer is a fatal disease.

b- Covid 19 is a virus. On the other hand, cancer is a fatal disease.

c- On the other hand cancer is a fatal disease Covid 19 is a virus.

7- The doctor has vaccinated more than 100 volunteers, ............... ? (Add a question tag)
a- The doctor has vaccinated more than 100 volunteers, hasn’t he?

b- The doctor has vaccinated more than 100 volunteers, doesn’t he?

c- The doctor has vaccinated more than 100 volunteers, wouldn’t he?

8- Heat water to 100 degrees. It boils (Start with: If)

a- If you heat water to 100 degrees, it boils.

b- If you heated water to 100 degrees, it will boil.

c- If you have heated water to 100 degrees, it would boil.

6|Page



I11- Writing (40 Marks)

Plan and write a six-sentence paragraph about the benefits of making laws.
The Outline (5 Marks)

I- Introductory sentence:

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................



QuUIZ 4

Class: 12
First Period Quiz

I- Vocabulary (20 Marks)

A- From a, b, c and d, choose the most suitable word that best completes each of the
following sentences: (4 x 5 = 20 Marks)
1- My grandmother was taken to hospital because her health condition had suddenly ............

a- proved b- decimated c- deteriorated d- prosecuted

2- Both football teams have played the match ina/an ............. and hostile style.

a- petty b- foreign c- apparent d- aggressive

3- This Sol musical ............... should be played a little longer by the violin players.

a- welfare b- note Cc- grievance d- boom

4- o , many people did not respect the last lockdown decision during the pandemic.
a- Unfortunately b- Nervously c- Compassionately d- Regardless

I1- Grammar (20 Marks)

B- From a, b and ¢, choose the correct answer as required: (4 x 5 = 20 Marks)

5- The nominees have already gathered in front of the exam center. (Make negative)
a- The nominees did not gather in front of the exam center.

b- The nominees have not gathered in front of the exam center yet.

c- The nominees have not already gathered in front of the exam center.

6- Some irresponsible vehicle drivers drive their cars ............ (Complete)
a- Some irresponsible vehicle drivers drive their cars danger.

b- Some irresponsible vehicle drivers drive their cars dangerously.

c- Some irresponsible vehicle drivers drive their cars more dangerous.

7- The lawyer has been defending the accused man for 2 hours. (Ask a question)
a- Where has the lawyer been defending the accused man?

b- How often has the lawyer been defending the accused man?

c- How long has the lawyer been defending the accused man?

8- People did not stand in line. There was chaos. (Start with: If)
a- If people stood in line, there would not have been chaos.

b- If people have stood in line, there will not have been chaos.
c- If people had stood in line, there would not have been chaos.

8|Page



I11- Writing (40 Marks)

Plan and write a six-sentence paragraph about the bad effects of migration.
The Outline (5 Marks)

I- Introductory sentence:

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................



QuiIZ 5

Class: 12
First Period Quiz

I- Vocabulary (20 Marks)

A- From a, b, c and d, choose the most suitable word that best completes each of the
following sentences: (4 x 5 = 20 Marks)

1- Many fansare ............ at the way the referee deals with the football players.

a- disgruntled b- arduous c- guilty d- major

2- Teachers ............. the meaning of the new words, but the learners put them in sentences.
a- sue b- contend c- intend d- define

3- The teacher cannot understand the ............... that has made the student leave the class.

a- code of law b- jury c- impulse d- diversity

4-The basic ................. of all codes of law is that the person is innocent until proven guilty.
a- compassion b- principle c- judiciary d- minority

I1- Grammar (20 Marks)

B- From a, b and ¢, choose the correct answer as required: (4 x 5 = 20 Marks)

5- Fahd has already registered the new car in his name. (Make negative)
a- Fahd has not registered the new car in his name yet.

b- Fahd has not already registered the new car in his name yet.

c- Fahd has already not registered the new car in his name yet.

6- Before we reached our destination, we (stop) ............ more than once. (Correct the verb)
a- Before we reached our destination, we will stop more than once.

b- Before we reached our destination, we have stopped more than once.

c- Before we reached our destination, we had stopped more than once.

7- My father is a doctor. My mother is a teacher. (Use: whereas)
a- Whereas my father is a doctor. My mother is a teacher.
b- Whereas my father is a doctor, my mother is a teacher.
c- My father is a doctor. Whereas my mother is a teacher.

8- It will rain. I will stay home. (Start with: If)
a- If it rains, | will stay home.

b- If it rains, 1 would stay home.

c- If it will rain, I would have stayed home.

10| Page



I11- Writing (40 Marks)

Plan and write a six-sentence paragraph about the outcomes of the absence of laws.
The Outline (5 Marks)

I- Introductory sentence:

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................

..................................................................................................................



In (6) sentences write a paragraph to explain the advantages of migration

Outline
Introduction
What forces do you think drive human migration?
Body

better jobs / better life conditions / new languages, customs and cultures / developing the
host countries

Conclusion
| think migrating for a limited time is better than migrating forever.

What forces do you think drive human migration? There are many aduantages for
migration. First, migrants can get better jobs and better salaries for sure. Moreover,
migrants can enjoy better life conditions. In addition, migrants learn new languages,
customs and cultures. Finally, they help in developing the host countries. | think migrating
for a limited time is better than migrating forever.

In (6) sentences write a paragraph to explain the disadvantages of migration

Outline
Introduction
East or west, certainly, home is the best!
Body
feel lonely / second rank citizens / feel homesick / lose identity / cultural differences
Conclusion
Life conditions in the countries from which people migrate should be improuved.

East or west, certainly, home is the best! Although migration has many benefits, it
has also many drawbacks. First, migrants feel lonely because of being away from family
and friends. Besides, some migrants feel that they are second ranR citizens in the host
countries. In additions, some of them feel homesick and long for their home countries.
What’s more, some migrants lose their identity and suffer from cultural differences. Life
conditions in the countries from which people migrate should be improved.



In (6) sentences write a paragraph exposing the importance of law.

Outline
Introduction
Without law, life would be a mess!
Body
people’s rights / safe and just society / live in peace / prevent chaos
Conclusion
Law should be respected in order to feel safe and free.

Without law, life would be a mess! Law is very important for every society. First, it
protects people’s rights. Moreover, it ensures a safe and just society. In addition, it helps
people to live in peace. Besides, it helps to prevent chaos. Law should be respected in order
to feel safe and free.

In (6) sentences write a paragraph exposing the possible solutions to put an end to
tragic accidents in residential areas.

Outline
Introduction
Car accidents in residential areas have increased a lot recently
Body

stricter laws / large fines / banned from driving / sent to prison / speed cameras / road
signs / speed bumps

Conclusion
Speeding is a serious problem that threatens our safety.

Car accidents in residential areas have increased a lot recently. They happen
because of reckless driving. A lot of safety measures should be taken to reduce the number
of accidents. First, stricter laws should be set against speedy drivers. They should pay
large fines or banned from driving for a while. Moreover, they should be sent to prison. In
addition, more speed cameras should be installed. Besides, more road signs should be set
an more speed bumps should be built. Speeding is a serious problem that threatens our
safety.



In (6) sentences write a paragraph exposing the importance of human values for every
society

Outline
Introduction
Human values are found in all religions an all cultures
Body

kReep peace on earth / avoid problems / reduce violence / ensure equal rights / understand
each other

Conclusion
All human actions can be dangerous if they aren’t guided with human values.

Human values are found in all religions an all cultures. Without them, the world
would be in chaos. First, they help us Reep peace on earth. Moreover, they help us avoid
problems and conflicts. Besides, they help to reduce the rate of violence. In addition, they
ensure equal rights everywhere. What’s more, they help us understand and be tolerant
with each other. All human actions can be dangerous if they aren’t guided with human
values.

In (6) sentences write a paragraph exposing the reasons why people migrate to other
countries

Outline
Introduction
Migration is a natural and important process in human life
Body

escape wars / better jobs / better life conditions / political reasons / escape natural
disasters

Conclusion
Migration levels should be reduced to avoid its drawbacks.

Migration is a natural and important process in human life. People migrate for
many reasons. First, some migrate to escape wars and conflicts in their home countries.
Second, others migrate to seeR better jobs and better life conditions. Third, some people
migrate for political reasons. Fourth, they also migrate to escape natural disasters.
Migration levels should be reduced to avoid its drawbacks.



